Year 2 Homework Answer

Module 1: 2-digit and 3 digit addition/subtraction

1.
29 72
79 81
70 77
81 92
2.
False False
27 +54=81 38+42=80
3.
8+31=39 49+32=81
4,
90 48 49 71
35 73 92 18
18 37 111 64
5.
= <
< =
< >
6.
N/A
7.
15+51 =66

16 +61=77




35+ 34 47 + 50 36 + 33
9.
7 8 7
8 6 4
10.
70 5 8
90 10 81
11.
< > >
> < >
12.
False False False
90-25=65 83-8=75 82 -26=56
13.
87 52 54 10
106 15 66 6
14.
32+ 36 80—-25 70-16 34 +20
15.
76 61 75




16.

40-12=28

35+9=44

17.

34 60

72

22 162

70

18.

The bottom two numbers sum will be the top number.

19.
a) 32 — 18 = 14 roses left in garden
b) 26 — 9 = 17 lilies left in garden

C) 3 vases

20.
a) 62 + 38 =100
b) 62 — 46 = 16
Cc) 62 + 38 + 46 = 146

21.
< <
> <
22.

35— 29 =6 years old now
After 10 years: 6 + 10 = 16 years old




23.

24,

25.

26.

217.

28.

Vivi skips: 48
Yoyo skips: 48 + 8 = 56
Total: 48 + 56 = 104

29 + 36 = 65 sweets
65 — 48 = 17 sweets left

11 + 18 — 6 = 23 people

Jerry: 25 metres away from the end
Tim: 25 — 3 = 22 metres away from the end,;

Time swam 100 — 22 = 78m at present

Toy car: 26

Toy tank: 26 + 14 = 40
Toy airplane: 32

Toy ship: 32-13=19

Choose two toys that cost over 60 dollars

28 + 17 = 45 leaves
45 — 39 = 6 leaves left



